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BACHELOR OF SCIENCE (GENERAL) 
(BSCG)  

Term-End Examination 
December, 2022 

BBYCT-135 : PLANT ANATOMY AND 

EMBRYOLOGY 

Time : 2 Hours     Maximum Marks : 50 

Note : Q. No. 1 is compulsory. Attempt any four 

questions from Question Nos. 2 to 8.  

Draw well labelled diagrams, wherever 

necessary. 

1. (a) State whether the following statements are 
True or False : 1

2
×4=2 

(i) In aleurone layer of grains lipid, 
proteins and carbohydrates are found. 

(ii) In monocots lateral meristems are 
prominent. 

(iii) Root hairs are found only in the older 
parts of root. 

(iv) Karyopsis is an example of indehiscent 
fruit. 
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(b) Fill in the blanks : 1×3=3 

(i) The cells having thick lignified walls 
are known as ................ . 

(ii) In wheat and maize ................ 
constitutes the edible part of the 
fruit/seed. 

(iii) ............... is an example of hesperidium 
type of fruit. 

(c) Define the following terms : 1×5=5 

(i) Periderm 

(ii) Sucker 

(iii) Amphivasal vascular bundle 

(iv) Cleistogamy 

(v) Diplospory 

2. (a) Define complex tissue. List the various 
types of complex tissue and describe any 
one of them. 5 

(b) List the special type of roots and describe 
storage roots with examples and diagrams.  

5 

3. (a) Describe the structure of stomata with a 
labelled diagram. 5 

(b) Discuss the function of trichome. 5 
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4. (a) Briefly describe the structure of mature 
embryo sac (polygonum type) with a 
labelled diagram. 5 

(b) Discuss self-incompatibility and also 
describe advantages of cross pollination. 5 

5. (a) Describe secondary growth in a typical 

dicotyledonous stem with a labelled 
diagram. 5 

(b) Describe the anomaly in stems due to 

formation of accessory cambuim and its 
activity. 5 

6. Describe syngamy and triple fusion with 
labelled diagram. What is the product of triple 
fusion ? Describe its structure and function. 10 

7. Differentiate between any two of the following : 

5×2=10  

(i) Dicot and monocot leaf 

(ii) Homomorphic and heteromorphic self- 
compatibility 

(iii) Hydrophily and Zoophily 
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8. Write short notes on any four of the following : 

2 1
2
×4=10 

(i) Lenticels 

(ii) Insectivorous plants 

(iii) Polyembryony 

(iv) Aril 

(v) Mycorrhiza 

(vi) Cuticle 
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foKku Lukrd (lkekU;)  

(ch- ,l- lh- th-) 

l=kkar ijh{kk  

fnlEcj] 2022 

ch- ch- okbZ- lh- Vh--135 % ikni 'kjhj ,oa  
Hkzw.k foKku 

le; % 2 ?k.Vs     vf/dre vad % 50 

uk sV % iz'u Ø- 1 vfuok;Z gSA iz'u Ø- 2&8 esa ls fdUgha 

p kj iz'uksa ds mÙkj nhft,A tgk¡ dgha vko';d 

gks] ogk¡ lqukekafdr vkjsf[kr fp=k cukb,A  

1- (d)  crkb, fd fuEufyf[kr dFku lR; gSa ;k  

vlR; % 1
2 4=2×  

(i) vukt ds nkuksa dh ,Y;wjksu ijr esa fyfiM] 

izksVhu vkSj dkcksZgkbMªsV ik, tkrs gSaA 

(ii) ,dchtif=k;ksa esa ik'oZ foHkT;ksrd lqLi"V 

gksrs gSaA 
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(iii) ewyjkse tM+ ds iqjkus Hkkxksa esa gh ik, tkrs 

gSaA 

(iv) dSfjvksfIll ,d vLiQqVu'khy iQy dk 

mnkgj.k gSA 

([k) fjDr LFkkuksa dh iwfrZ dhft, % 1×3=3 

(i) eksVh fyXuhd`r fHkfÙk;ksa okyh dksf'kdk,¡  
---------------

(ii) xsgw¡ vkSj eDdk esa 

 dgykrh gSaA 
-----------------

(iii) 

 iQy@cht dk [kkus 

;ksX; Hkkx cukrk gSA 
-------------------

(x) fuEufyf[kr 'kCnksa dh ifjHkk"kk nhft, % 1×5=5 

 gsLisjhfM;e izdkj ds iQy dk 

mnkgj.k gSA 

(i) isjhMeZ@ifjpeZ 

(ii) var%HkwLrkjh 

(iii) iks"kokg dsUnzh laogu iwy 

(iv) vuqUehY; ijkx.k 

(v) f}chtk.kqrk 

2- (d)  tfVy Ård dh ifjHkk"kk nhft,A fofHkUu izdkj 

ds tfVy Årdksa dks lwphc¼ dhft, vkSj 

muesa ls fdlh ,d dk o.kZu dhft,A 5 
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([k)  fo'ks"k izdkj dh tM+ksa ds uke crkb, vkSj 

vkjs[kksa vkSj mnkgj.kksa ds lkFk HkaMkj.k tM+ksa dk 

o.kZu dhft,A 5 

3- (d)  ja/z dh lajpuk dk o.kZu lqukekafdr vkjs[k 

lfgr dhft,A 5 

([k)  Ropkjkse ds dk;ks± dk o.kZu dhft,A 5 

4- (d)  ifjiDo Hkzw.k&dks'k (iksyhxksue izdkj) dh 

lajpuk dk o.kZu lqukekafdr vkjs[k lfgr 

dhft,A 5 

([k)  Lo&vfu"ksP;rk dk o.kZu dhft, vkSj ijijkx.k 

ds ykHkksa dks Hkh crkb,A 5 

5- (d)  ,d izk:fid f}chti=kh rus esa f}rh;d o`f¼ 

dk o.kZu lqukekafdr vkjs[k lfgr dhft,A 5 

([k)  lgk;d dSfEc;e ds cuus vkSj mldh fØ;k ds 

dkj.k rus esa gksus okyh vlkekU;rk dk o.kZu 

dhft,A 5 

6- ;qXed&lay;u vkSj f=klay;u dk lqukekafdr vkjs[k 

lfgr o.kZu dhft,A f=klay;u ls D;k curk gS \ 

mldh lajpuk vkSj dk;Z crkb,A 10 
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7- fuEufyf[kr esa ls fdUgha nks ds chp vUrj crkb, % 

5×2=10 

(i) f}chti=kh vkSj ,dchti=kh iÙkh 

(ii) le:ih vkSj fo"ke:ih Lo&vfu"ksP;rk 

(iii) ty ijkx.k vkSj tarq ijkx.k 

8- fuEufyf[kr esa ls fdUgha pkj ij y?kq fVIif.k;k¡ 

fyf[k, %   ×1
22 4 =10 

(i) okrja/z 

(ii) dhVHk{kh ikni 

(iii) cgqHkzw.krk 

(iv) chtpksy (,fjy) 

(v) dodewy 

(vi) D;wVhdy 
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